
1- Set the composite brackets in place and use the 5/16” flange bolts to hold the brackets in place.
(See fig. 1)   

2-  Slip the filter into the shield opening and determine the best location for the HS-brackets by slid-
ing the brackets up to the filter.  Once the proper setting has been determined according to the size  

of the filter continue to tighten all bolts in place.  (See fig.  2)
3-  There are other ways to install the heat shield.  Follow the first and second step without

tightening the 5/16” bolts.   Place the entire assembled filter over the intake system and tighten 
the clamp on the filter to the intake.  (See figs. 3 and 4)

4-  Check and tighten the 5/16” bolts previously placed into the press  nuts.  (See fig. 4) 
5- Congratulations! You have now completed the installation.

HS3500/HS3600/HS5000
Heat Shield

1-Universal heat shield / splash guard
3- Composite HS brackets          (#4010)
3- 5/16” x 1/2” bolts                    (#6019)

Please check the contents of this box immediately.
Report any defective or missing parts to the Authorized Injen 
Technology dealer you purchased this product from.
Before Installing any parts of this system, please read the instruc-
tions thoroughly.  If you have any questions regarding the installa-
tion, please contact the dealer you purchased this product from.
*Do not attempt to install the intake system while the engine is hot.

Although the heat shield/splash guard acts as a deterrent against
debris and water splashing, we strongly recommend removing the
cold air extension if applicable during rainy or wet seasons. Failure
to do so may result in extreme engine damage.
Injen Technology.  244 Pioneer Place. Pomona, CA 91768 USA.
CAUTION: THIS DEVICE IS MADE TO ACT AS A REPELLENT FROM

HEAT OR WATER ONLY.  DO NOT SUBMERGE IN WATER
OR EXPOSE TO EXTREME TEMPERATURES.  

figure  1 figure  2

figure  3 figure  4

The filter is inserted into the shield and the
clamp is over-lapped  over the brackets.

Once the filter is aligned continue to
tighten the clamp over the intake.

The HS-brackets are set over the press
nuts and fastened with the 5/16” bolts.

>>>>

Check all 5/16” flange bolts for proper
fit and adjustment.

>>>>


